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ALGEBRA: SOLVING EQUATIONS
Instructions:

- Fill your name in the section below
- Answer the questions in the spaces provided
- Show your working out for all answers

Materials Required:
- Pen
- HB Pencil
- Ruler (in centimetres and millimetres)
- Protractor
- Compass
Advice:
- Carefully read the question before attempting to
answer it
- Be vary of time and try to answer every question
- If you have enough time in the end, go back and
check your answers. A good way to check your

answers is to retry the question with the hope of

getting the same answer as before without looking
at your working out from before

Information:

- The marks allocated for each question are
displayed within brackets — utilise this information to

gauge the appropriate amount of time to dedicate to

each question
- Questions marked with an asterisk (*) will assess

your written communication; be careful of spelling,
punctuation and grammar with these questions

NAME.:
[ ]
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CHANGE THE SIDE, CHANGE THE SIGN

1. (a) Solve 2y=8

y = % o

g=u
(b) Solve t—4=7
t= F+M
= \\
1)

X
Z =3
(c) Solve 1

X =\ (3 marks)

2. (a) Solve §=6

-t 6)‘ S
J L8

\3 = 18 )
(b) Solve 7y=54
5: SH
F R - T
= 1)
(¢c) Solve 2t—5=9
Lt =9+5
2_t = 1Yy
L (2)
(4 marks)
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(8.,) Solve 4w =20
W =20
“A WD
W=S .
(b) Solve x —6 =
x=3+0
X =
2 A Q..
(0))
(¢) Solve Y7
3
y=*x3 ym ke
=2\ o
b (3 marks)
4. (a) Solve 3x=i2 V1
== R S
(1)
X = 4
(b) Solve y-=7=5
J=s+* R O S
(1)
gy 1z
(c) Solve 2t+8=3
2% -2 — - IS
3 8 Z t= _2,0.3 ........
2t= -S t=-2.g 2)
(d)Solve 2V _4
5
. Lo
y= xS ¥S % yod Qo
(2)
Z"\') = LO \\j =10 (3 marks)
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6.

(a) Solve 6g =18

@
(b) Solve y+5=12
\d: VL —-S q’
- P T et
J- + M
(c) Solve Y3
4
X =35 x\y ) | )
(d) Solve Sh+7=17
S n = \+ -3
Skh=10 N S
— (2)
- g \'\ = 2 (5 marks)
>
(a) Solve b-T7=12
=R S S
o=1¢ P Wt
b= | (1)
(b) Solve S5e=40
C-= L‘—(D— e = g e=8 ..........................
S 1)
(c) Solve 4m+6=15
[N
Umn = \S - m= = _
° S =N
b = 4 m=2 15 @
(d) Solve Sw—6=10
Sw = 10+ b
Sw = ‘(9 w= ... 3' ...........................
(2)
w = lb (6 marks)

z w= 3.7
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7 (a) Solve 4 +1=9

Ux = a- 1 x=g
Ux — & — N A o
(b) Solve 2x—5=4
Lx =4 +5S
1x = A
xz= A x = Y.S im S
T (2)
(c) Solve y-1=12
23 =\t 4\
Ly= '3 b S m

- 13 - -
9 - O = b.5S (6 marks)

8. (a) Solve 4x+1=19
Lx = \Q -\ X = lé.

Y
_ e WS
x = 1% X =Y4.9 (2)

(b) Solve 4x+3=19
- lb
Ux =\ — e
3 = 4
- X = i
“x=1b X = Y 2)
(¢) Solve 2g+7=1

Zq, = |-

Lo, = — b A S

- = b (2)
q’ - I Uf- - S (6 marks)

L
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9

x+tx+x=15

(a) Solve
x - -\_S— x':- S X T e T (2)
3
(b) Solve 6x—7=738
bx = 38+ 3
bx = 4S ¥
x =4 x=}.S ®
(©) Solve © 7x+ 18 = 74
Fx = FIuU - 18
I<=56
X = Ei X = v g ......................
> ()
X = 8 (6 marks)
(a) Solve 2y+3=28
_ = S
z’ﬁj =%-3> 4= =%
Zb: S :3 / L < yZZOS .............. o)
- - 2
(b) Solve 5(t—-3)=25
St-1Ss =2s =140
— 5 S
ot = Ls + \S 2
St - ‘_10 t-_ % t= . 2
(c) Solve 4(5y-2)=48
204 - % =48 - 86
2, 20
@) -
3 =18+8 v Bn B
_ 3‘— .8 (2)
B (6 marks)

S6

L0y
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11.  Solve 13x+1=11x+9

\Ix —1Ix =6 —\
Lx = &

x= &
xX = L\ (3 marks)
12. Solve
5t—4=3t+6
S5t -3t =+ Y
lt = \0O
= \0O
T
£L=9S _
e S
(3 marks)
13.  Solve

4y+3=2y+8

l’\al_:) 8 -3

4= .S '5:1.5\

(3 marks)
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14.  Solve Sy+1=3y+13
5:3 —%b = \3 -\
23 = \L

\ L

W=z d

(!
o
o

(3 marks)

3y - Sy i-’5;-‘/—\0
~2y = — %

= 1y ¥
y =

hd
[
\j = 3 S ) (3 marks)

16. Solve
2y+17=6y+5

25—63=Sf\}
""\3 = —\T

= L‘n—‘- \L
\ L

V= % 4=3 R T

(3 marks)
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